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Q: 1 Answer the following by selecting the correct answer from the giveh options: [10]

1. Ifz = —4 4 3i then |z| =------=----

a4 b. 3 c. 5 d. 6
2. f:N — N defined by f(x) = 2x + 1 then co-domain of function f = --------=--

a {1357--—--} b {357----} ¢ (1357-—-—--} . d {2468-—-~--}
3. If- ;ﬂ is a solution of quadratic equation then A= ---------—-

a. ¢ —4ab b. a? —4ch : c. b% —4ac - d. 0

4. The range of sec function is ---~-------

a R h. R—(-1,1) c. [0,1] d. [-1,1}
5. Ifx = logs 125 then x =------

a. 4 b. 2 c. 3 1 d.5
6. Exponential form oflog,, 1000 = 3 is --~----- |

a. 310 = 1000 b. 103 = 1000 ¢. 1000"0 = 3 d. 101000 =3
7 I co;@ sin@l _

—sinf cosf

a. cos*8 — sin*0 b. 0 ¢ 1 d. None of these
8. ra=[2 3 |thenadja = |

~ [ %) P 7 D % 7
9. If% = (cosa,sina), ¥ = (cosf,sinpB) then [X| + |F]=---—- |

a. 1l b. 0 c 2 d. -1
10. If % = (k,—1), 7 = (—k,—4) and X 1L ¥ then k =--------

a 2 b. —v2 c. 0 a1
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Q: 2 Do as directed: [08]

(1) The value of ({)*® =-----mmmmmeemmees
(2) Conjugate of z = —8 + 2i = ~----------

(3) True or False: The value of sin150° is %
(4) True or False: Zero's of cosin function is {kn/k € Z}.

(5) Trueor False: A = [0 (2)

{6) True or False: The value of l_23

is diagonal matrix.
_1] is 7.

(7) For & = (xq,%3,%4) € R3 thenx X £ = --------
(8) Direction of (1,0,0) and (—1,0,0) are----------

Q: 3 Answer in brief of the following questions. (Any Ten) [20]

1.Find the range of function f: N — N defined by f(x) = ;1;

2.Find inverse of a complex number (3, —4).

3.Is of function f: N — N defined by f(x) = 2x — 1 on-to? Verify it.

4.Find the value of cos ( 13“).

5. Slmphfyloge( ) +loge( )—I—l ge( ) '
6.Express 27 = 128 and 8° = 1 in logarithmic form.

7064 = [2 -1 4‘]3 [2 6 3]thenfmdA+BandA B.

8. 1fA= B g] then find 4 + A”. s it symmetry?

0 —x —y
9.Provethat|x O z =40,
y -z 0

10. Evaluate: (2,3,1) x (=1,2,—3)
11. Solve: x(1,1) + y(2,1) = (3,2)
12, 1F % = (1,0,0),7 = (0,1,1),7 = (1,1,1) then find [¥,7,7]

Q: 4 Attempt any Four of the following: [32]

(1) If f:R — R defined by f(x)=x*+x+1, g:R — R defined by g(x) =x -— 1, 'R — R defined by
h(x) = 2x, then find fog, foh, fo(goh), (fog)og, gog, hoh, fof.
1 1
(2) Solve:3(x2 +5) +16 (x+2) +26 =0
(3) Solve:loga(7x — 9)? + log,o(3x —4)* = 2

1-tan\% _ 1+tan?f -171
(4) Provethat (1_Cot 9) = 1+CO’; 5+ Also find the value of tan( " )
(5) Solve 3x 4 2y = 13xy, —2x + 5y = 4xy by using Cremer’s rule.

-1 -1 -1 01 ,-_0 -1 MY — AR
(6) 14 =] . |.B=| 5 1],6 = [1 _1]thenprovethatA(B C) = AB — AC.
(7) Find the direction angles of (1,-1,0); (0,1,1).

(8) If ¥ = (1,1,2),§ = (1,2,1),Z = (2,1,1) then find X (¥ x Z).
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